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QUESTION 1

What are two methods of protecting LUN overwrites using Snapshot copies on a volume with fractional reserve set to
0%? (Choose two)

A. Snap Autodelete
B. iGroup throttle

C. LUN reset

D. Volume AutoSize

Correct Answer: AD

QUESTION 2

Which Data ONTAP option sets system-wide for all transfers?
A. Options transfers.wide.enable

B. Options transfer.throttle.enable.

C. Option replication.wide.enable

D. Options replication.throttle.enable

Correct Answer: D

QUESTION 3

Which statement is correct regarding virtual machine alignment on VMware ESX?

A. RDM LUNs do NOT suffer from alignment problems because they are accessed directly by VMs.
B. A VMFS LUN with a LUN type of VMware, will always have properly aligned VMs.

C. Alignment issues can occur on any protocol including FCP, iSCSI, FCoE, and NFS

D. msinfo32 or mbrscan can be run for the ESX service console to check for proper alignment of VMs.

Correct Answer: C

QUESTION 4

A volume SnapMirror relationship is allowed between two SnapLock Compliance volumes if the destination volume has
unexpired WORM files.

A. True
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B. False

Correct Answer: B

QUESTION 5

Click the Exhibit button.

FiZ_Switchs .-:.- ; F o Switcha -
Based on the diagram shown, what is the appropriate FC switch topology?
A. full mesh
B. core-edge
C. full cascade
D. partial mesh

Correct Answer: B
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